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1 3 4 6 9 10 12 10 11 12
r -1.5 7.2 =-2.7 n.a. 3.1 p 4.9 n.a.
r -2.8 8.3 8.1 n.a. 5.6 p 8.9 n.a.
10.9 10.2 -2.9 n.a. -5.7 -6.3 n.a.
-3.0 -2.7 -2.9 n.a. -5.7 -6.3 n.a.
-5.0 -4.4 -1.1 n.a. -0.3 -1.9 n.a.
-1.1 -0.8 -0.9 n.a. -2.8 -3.0 n.a.
13,819 9,741 10,544 9,393 3,172 3,426 2,797
1.7 -3.7 -3.8 0. -4.3 -1.0 9.0
8,503 5,739 6,295 5,357 1,859 2,001 1,497
-1.2 -7.2 -10.6 -8.5 -8.6 -8.3 -8.5
1,595 2,547 2,750 2,41 1,070 667 676
4.0 3.3 3.7 -0.1 15.8 -26.1 14.8
254 488 604 46 228 141 94
26.2 -28.2 -18.1 33. 41.5 38.6 11.3
0.73 0.77 0.78 0.80 0.79 0.79 0.83
1.5 -5.0 -4.3 n.a. -4.6 0.0 n.a.
-0.7 -1.3 -1.3 n.a. -0.6 -0.3 n.a.
-2.5 -6.6 -3.6 n.a. -5.9 -1.8 n.a.
-3.2 -8.0 -4.9 n.a. -6.5 -2.1 n.a.
18 24 35 2j 8 1 11
50.0 -11.1 59.1 5. 33.3 -83.3 57.1
5,927 9,536 4,314 11,817 9,285 35 2,497
58.1 39.4 -46.5 3.8 14.0 -92.6 24.9
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472 1,718 602 2,276
131 2.504 196 3,380
341 786 ~406 1,104
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41,074 352 579
34,180 270 527
6,894 83 52
22,015 243 247
18,389 225 222
3,626 17 25
17/ 18/ 18/
12 3 6 9 10 11 12
0.8 0.4 0.1 1.9 0.0 0.1 0.5
0.7 1.2 0.7 1.0 0.1 0.4 0.4
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18/ 18/
1 3 4 6 7 9 10 12 10 11 12
-0.055 0.039 0.064 0.04]  0.020 0.007 0.019
2.005 2.044 2.108 2.154]  2.128 2.135 2.154




